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Download 100% pass ensure 200-101 exam dumps from passleader.com now! PassL eader just published the the newest & the most
valid 200-101 dumps collection, including 200-101 PDF dumps and 200-101 VCE dumps, al new 200-101 exam questions are
available in PassLeader 200-101 braindumps now, it will help you 100% passing the 200-101 exam! ATTENTION PLEASE!!! The
200-101 exam will be retired on 24/Sep/2016, then, the 200-101 exam will be totally replaced by the new 200-105 exam! The
newest 200-105 exam dumps collection: http://www.vcedshared.com/?s=200-105 Free 200-105 PDF dumps from Google Drive:
https://drive.google.com/open?id=0B-0b6L_QjGLpUTVNc3otMV8xMkU keywords: 200-101 exam,295q 200-101 exam
dumps,295¢ 200-101 exam questions,200-101 pdf dumps,200-101 practice test,200-101 vce dumps,200-101 study guide,200-101
braindumps, I nterconnecting Cisco Networking Devices Part 2 Exam P.S. Download Free 200-101 PDF Dumps From Google Drive:
https://drive.google.com/open?id=0B-ob6L_QjGL pU21Y dXc3aEZxNUU QUESTION 61Which command is used to enable CHAP
authentication, with PAP as the fallback method, on a serial interface? A.  Router(config-if)# ppp authentication chap fallback ppp
B. Router(config-if)# ppp authentication chap papC. Router(config-if)# authentication ppp chap fallback pppD.
Router(config-if)# authentication ppp chap pap Answer: B QUESTION 62What is the result of issuing the frame-relay map ip
192.168.1.2 202 broadcast command? A.  defines the destination | P address that is used in all broadcast packets on DCLI 202B.
defines the source I P address that is used in al broadcast packets on DCLI 202C. defines the DLCI on which packets from the
192.168.1.2 IP address are receivedD.  definesthe DLCI that is used for all packetsthat are sent to the 192.168.1.2 |P address
Answer: D QUESTION 63Which Layer 2 protocol encapsulation type supports synchronous and asynchronous circuits and has
built-in security mechanisms? A. HDLCB. PPPC. X.25D. Frame Relay Answer: B QUESTION 64Which encapsulation type
isaFrame Relay encapsulation type that is supported by Cisco routers? A. IETFB. ANSI Annex DC. Q9333-A Annex AD.
HDLC Answer: A QUESTION 65The internetwork infrastructure of company XY Z consists of asingle OSPF area as shown in the
graphic. Thereis concern that alack of router resources isimpeding internetwork performance. As part of examining the router
resources, the OSPF DRs need to be known. All the router OSPF priorities are at the default and the router 1Ds are shown with each
router. Which routers are likely to have been elected as DR? (Choose two.) A.  Corp-1B. Corp-2C. Corp-3D. Corp-4E.
Branch-1F. Branch-2 Answer: DF QUESTION 66A network administrator needs to configure a serial link between the main office
and aremote location. The router at the remote office is a non-Cisco router. How should the network administrator configure the
serial interface of the main office router to make the connection? A.  Main(config)# interface serial 0/0Main(config-if)# ip address
172.16.1.1 255.255.255.252 Main(config-if)# no shutB. Main(config)# interface serial 0/OMain(config-if)# ip address 172.16.1.1
255.255.255.252 Main(config-if)# encapsulation pppMain(config-if)# no shutC. Main(config)# interface serial 0/0
Main(config-if)# ip address 172.16.1.1 255.255.255.252 Main(config-if)# encapsul ation frame-relayMain(config-if)# authentication
chapMain(config-if)# no shutD. Main(config)# interface serial 0/0OMain(config-if)#ip address 172.16.1.1 255.255.255.252
Main(config-if)#encapsulation ietfMain(config-if)# no shut Answer: B QUESTION 67Which PPP subprotocol negotiates
authentication options? A. NCPB. [ISDNC. SLIPD. LCPE. DLCI Answer: D QUESTION 68Refer to the exhibit. Assuming
that the entire network topology is shown, what is the operational status of the interfaces of R2 as indicated by the command output
shown?

172.16.909.5/30 172.16.109.6/30
S00 -

—
R2

Fad0 FaO
172.16.909.62/26 172.16.110.1/24

R2% show ip imterface brief

Interface WP.-Address  OK? Method Status Protocol
FastEthernet00 172.16.10962 YES manual up p
Selial0 0 unassigned  YES unsel  administistively down down
Seriald 1 172.16.095 YES meeul Wp- - 0 - ] AR~ -

A. Oneinterface hasaproblem.B. Two interfaces have problems.C. The interfaces are functioning correctly.D. The
operational status of the interfaces cannot be determined from the output shown. Answer: C QUESTION 69Which two statements
describe the process identifier that is used in the command to configure OSPF on arouter? (Choose two.)Router(config)# router ospf
1A. All OSPF routersin an area must have the same process ID.B.  Only one process number can be used on the same router.C.

Different process identifiers can be used to run multiple OSPF processes.D.  The process number can be any number from 1 to
65,535.E. Hello packets are sent to each neighbor to determine the processor identifier. Answer: CD QUESTION 70Refer to the
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exhibit. Given the output from the show ip eigrp topology command, which router is the feasible successor?

routergshow ip eigrp topology 10.

IP-EIGRP topology entry for 10,0,
origin flag is 1, 1 Successor(s),

/\_ 10,1.0.3 (SerialD), from 10.1.0.3, Send flag is Ox0
Composite metric is (46866176/46354176), Route is Internal
Vector metric:

Minimum bandwidth is 56 Ebit

Total delay is 45000 microseconds

Reliability is 255/255

Load is 1/255

Minimum MTU i= 1500

Hop count is 2

B_ 10.0.0.2 (Serial0.l), from 10.0.0.2, Send flag is Ox0
Composite metric is (53973248/128256), Route is Internal
Wector metric:

Minimum bandwidth is 48 Fbic

Total delay is 25000 microseconds

Reliability is 255/255

Load is 1/255

Minimum MTU is 1500

Hop count is 1

C. 10.1.0.1 (SerialQ), from 10.1.0.1, Send flag is Ox0
Composite metric is (46152000/41640000), Route is Internal
Wector metric:

Hinimum bandwidth iz 64 Ebic

Total delay is 45000 microseconds

Reliability is 255/255

Load is 1/255

Minimum MTU is 1500

Hop count is 2

D_ 10.1.1.1 (Serial0.l), from 10.1.1.1, Send flag is 0x0
Composite metric is (46763776/46251776), Route is External
Yector metric:

Minimum bandwidth is 56 Kbit

Total delay is 41000 microseconds

Reliabilicy is 255/255

Load is 1/255

Minimum MTU is 1500

Hop count iz 2 (LKL LS LR ’J'_"_z ArAARNSAIEAS oA

Answer: B QUESTION 71Which three of these statements regarding 802.1Q trunking are correct? (Choose three) A.  802.1Q
native VLAN frames are untagged by default.B. 802.1Q trunking ports can also be secure ports.C.  802.1Q trunks can use 10
Mb/s Ethernet interfaces.D.  802.1Q trunks require full-duplex, point-to-point connectivity.E.  802.1Q trunks should have native
VLANSs that are the same at both ends. Answer: ACE QUESTION 72Which two options are valid WAN connectivity methods?
(Choosetwo.) A. PPPB. WAPC. DSLD. L2TPv3E. Ethernet Answer: AC QUESTION 73Refer to the exhibit. Which

. . [Router awshow intertTace poss; 00 e T P | P
WAN prOtOCOl isbei ng used?|ress/o/0 is up, 1ine protecol is up OO o A BB (=G0
Hardware iz Packet over Sonet c.
Keepalive set _Em sec)
scramble disabled
LMI enq sent 2474388, LMI stat recwvd 2474969, LMI upd recvd 0, DTE LMI up
groadcast queue 0/256, broadcasts sent/dropped 257606680, interface broadcasts 2534BL76
Last input 00:00:00, output 00:00:00, output hang never
Last clearing of “show interface” counters 40wed
5 minute input rate O bits/sec, O packets/sec
5 minute gutput rate 39000 bits/sec, &0 packets/sec

63153396 packets input, 4389121455 bytes, 0 no buffer

Received 0 broadcasts (0 IP multicast)

0 runts, 0 giants, 0 throttles

0 parity

44773 input errors, 39138 ¢eC, 0 frame, O overrun, 0 ignored, 27 abort

945596253 packets output, 62753244380 bytes, 0 underruns

0 output errors, O applique, 0 interface resets

0 output buffer failures, O output buffers swapped out

0 carrier transitions
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A. ATMB. HDLCC. FrameRelayD. PPP Answer: C QUESTION 74What occurs on a Frame Relay network when the CIR
isexceeded? A. All TCPtrafficis marked discard eligible.B.  All UDP traffic is marked discard eligible and a BECN is sent.C.
All TCP traffic is marked discard eligible and aBECN issent.D.  All traffic exceeding the CIR is marked discard eligible. Answer:
D QUESTION 75What are two characteristics of Frame Relay point-to-point subinterfaces? (Choosetwo.) A. They create
split-horizon issues.B.  They require aunique subnet within arouting domain.C. They emulate leased lines.D. They areided
for full-mesh topologies.E. They require the use of NBMA options when using OSPF. Answer: BC QUESTION 76Which two
statements about using the CHAP authentication mechanism in a PPP link are true? (Choose two.) A. CHAP uses atwo-way
handshake.B. CHAP uses athree-way handshake.C. CHAP authentication periodically occurs after link establishment.D.

CHAP authentication passwords are sent in plaintext.E.  CHAP authentication is performed only upon link establishment.F.

CHAP has no protection from playback attacks. Answer: BC QUESTION 77Which command allows you to verify the encapsulation
type (CISCO or IETF) for aFrame Relay link? A.  show frame-relay ImiB. show frame-relay mapC. show frame-relay pvcD.
show interfaces serial Answer: B QUESTION 78What is the purpose of Inverse ARP? A.  to map aknown IP addressto aMAC
addressB. to map aknown DLCI toaMAC addressC. to map aknown MAC addressto an |P addressD. to map aknown DLCI
toan |P addressE. to map aknown IP addressto a SPIDF.  to map aknown SPID to aMAC address Answer: D QUESTION 79
Refer to the exhibit. A network associate has configured OSPF with the command: City(config-router)# network 192.168.12.64
0.0.0.63 area OAfter completing the configuration, the associate discovers that not al the interfaces are participating in OSPF. Which

three of the interfaces shown in the exhibit will participate in OSPF according to this configuration statement? (Choose three.) Citylishow ip i

Interface
FastEthernet0,
FastEthernetd,
Seriald/0
Serial0n
Serial0/1.102
Serial01.103
Serial0/1.104
City#

A. FastEthernetO/OB. FastEthernet0 /1C.  Serial0/0OD. Serial0/1.102E. Serial0/1.103F. Serial0/1.104 Answer: BCD
QUESTION 80Refer to the exhibit. The Lakeside Company has the internetwork in the exhibit. The administrator would like to
reduce the size of the routing table on the Central router. Which partial routing table entry in the Central router represents a route
summary that represents the LANs in Phoenix but no additional subnets?

' Upstream
S0/0 Provider
FﬂUH '-5-)- _

10.3.0.0/24

10.6.1.0/24 fisdmps 0ANEE4 1041004

A. 10.0.0.0/22 is subnetted, 1 subnetsD 10.0.0.0 [90/20514560] via 10.2.0.2, 6w0d, Serial0/1B. 10.0.0.0/28 is subnetted, 1
subnetsD 10.2.0.0 [90/20514560] via 10.2.0.2, 6w0d, Serial0/1C.  10.0.0.0/30 is subnetted, 1 subnetsD 10.2.2.0 [90/20514560] via
10.2.0.2, 6w0d, Serial0/1D. 10.0.0.0/22 is subnetted, 1 subnetsD 10.4.0.0 [90/20514560] via 10.2.0.2, 6w0d, Serial 0/1E.
10.0.0.0/28 is subnetted, 1 subnetsD 10.4.4.0 [90/20514560] via 10.2.0.2, 6w0d, Serial0/1F. 10.0.0.0/30 is subnetted, 1 subnetsD
10.4.4.4 [90/20514560] via 10.2.0.2, 6w0d, Serial0/1 Answer: D  Download the newest PassL eader 200-101 dumps from
passleader.com now! 100% Pass Guarantee! 200-101 PDF dumps & 200-101 V CE dumps: http://www.passleader.com/200-101.html
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(295 Q& As) (New Questions Are 100% Available and Wrong Answers Have Been Corrected!) P.S. Free 200-101 PDF dumps

download from Google Drive: https://drive.google.com/open?d=0B-ob6L_QjGLpU21Y dXc3aEZXNUU (Explanation For Every
Question Is Available!)
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